
CURRENT LONGEST CHAIN

Progress Behavior



Example Project
2

CC is 10 days and CLC 

is also still 10 days



What if?
Task Duration (workload) increased with 50 % - Estimated Time  15 days

3

Critical Chain = 10 days 

CLC becomes 15 days



What if?
Expected Time to Complete  15 days
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Critical Chain = 10 days 

CLC becomes 15 days



What if?
ETTC is 5 days  50 % Progress
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Rescheduling
Based on actual progress
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LYNX assumes a remaining CC of 5 days, 

give already 5 days completion.



After release again
Rescheduling Based on Actual Progress
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Update Feeding Chain duration to reflect progress of 5 days (50 %)

Rescheduling based on Actual Progress
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